Part 1, RC email:
A. 0,10,30,40 mins (duplicate) for dose response: choose 4 HKL concentrations including 0, ideally overlapping with concentrations previously used -- e.g., 0, 10, 50, 100uM HKL.
B. As we have seen @ sat HKL and low NAD/NAM, some activation is possible. We need to test the Nat Comm conditions more carefully in dose response using shorter times, since time matters. 
AU: Nature communication paper did not explicitly mention the reaction condition and reaction time.
RC: I am talking about 10uM HKL condition. 
C. First expts should be 10uM HKL, 100uM NAD, sat peptide, w and wo 100 NAM, check whether activation occurs only @ 100 NAM. If so, do the whole dose response curve above @ 100uM NAM. Otherwise, @ 0uM NAM.

Note: it is possible to do expts with two different combined batches, in parallel with two experimentalists if needed, and then average to improve consistency. However, we may start with just doing one expt with two different batches to check consistency (see pt 2 below). If one batch is highly consistent, we may proceed with remaining expts using that batch only.  

Time points- 0, 10, 30, and 40 minutes in duplicate, using saturating K122 peptide 600 uM, Duplicate (Total 64 56 reactions).
1. [NAD] = 100 uM + [NAM] = 0 uM + [HNK] = 0 uM (2x4 Rxn = 8 reactions) 
1. [NAD] = 100 uM + [NAM] = 0 uM + [HNK] = 10 uM (2x4 Rxn = 8 reactions)
1. [NAD] = 100 uM + [NAM] = 0 uM + [HNK] = 50 uM (2x4 Rxn = 8 reactions)
1. [NAD] = 100 uM + [NAM] = 0 uM + [HNK] = 100 uM (2x4 Rxn = 8 reactions) 
1. [NAD] = 100 uM + [NAM] = 0 uM + [HNK] = 200 uM (2x4 Rxn = 8 reactions) 


1. [NAD] = 100 uM + [NAM] = 100 uM + [HNK] = 0 uM (2x4 Rxn = 8 reactions)
1. [NAD] = 100 uM + [NAM] = 100 uM + [HNK] = 10 uM (2x4 Rxn = 8 reactions)
1. [NAD] = 100 uM + [NAM] = 100 uM + [HNK] = 50 uM (2x4 Rxn = 8 reactions)
1. [NAD] = 100 uM + [NAM] = 100 uM + [HNK] = 100 uM (2x4 Rxn = 8 reactions) 
1. [NAD] = 100 uM + [NAM] = 100 uM + [HNK] = 200 uM (2x4 Rxn = 8 reactions) 

Remarks: Reactions 1, 2, 65, and 76 are priority (4 days using 2 HPLC). If the activation occurs @ 100uM NAM only then do 78 9, and 108 (another 2.5 3days using 2 HPLC).  If not, then do only 3 ,4 and 54 (2.53 days using 2 HPLC). (5,10 were added because although we have them for previous batch, best to also do them with the new batch for consistency.) Do 100 uM last.  If enzyme stock or time is limited, can postpone expts 4,9 (@ 100 uM HKL). Note:  in part 2 below, two batches are first compared for consistency. That expt might be done first, following which the more consistent batch can be used for dose response. However, the issue of consistency is more imp for part 2 than part 1.  If we do not have enough enzyme in one batch, it is ok to use the other batch for dose response. 

Part 2, RC email:
1. 3000, 15000 uM NAD with selected high NAM expts (i.e., > 200uM) for model fitting. Some of these will likely need to be redone using 0,10,30,40 min times because low times were omitted in the previous expts, and also because they were not done in duplicate yet.
2. The priority here will be to check ability to combine new batch with old batch data. Hence, first choose one experiment and sample 0,10,30,40 min time points in duplicate. Compare the 0,30 min data to those from old enzyme. We can then consider using the ratio of activities to adjust the 10, 40 min data so they can be combined with the old data.
3. Next, after we review consistency, proceed with high NAM expts (0-40 mins in duplicate) that -do not require extensive column washing-. Recommendation is to do 3000 NAD/2000,3000 NAM (do 3000 NAM with 0 HKL only) and 15000 NAD/57000,78000 NAM in this step.
4. Then, proceed with high NAM expts (0,10,30,40 mins in duplicate) that -require more column washing-. Recommendation is to do 15000 NAD/12000,15000 NAM (do 15000 NAM w 0 HKL only) in this step.
5. Then (optional), as time permits, redo the remaining high NAM expts. These are less critical.
6. Alok could do these expts for model fitting, with Sudipto helping after hours if needed to meet our deadline.
7. Dose response and all high NAM experiments except the optional final step above should be done before the end of the week of May 8. Let me know as soon as you have completed the draft schedules and discussed with Guan.

I did not include time/days required for the experiments as I need some clarifications.


[bookmark: _GoBack]1st: first choose one experiment from list A below (3000 uM NAD, 0 uM NAM , 0 uM HKL is advisable) and sample 0,10,30,40 min time points in duplicate. Compare the 0,30 min data to those from old enzyme. We can then consider using the ratio of activities to adjust the 10, 40 min data so they can be combined with the old data. If there are concerns about changes in buffer due to different amount of diluted enzyme required, may keep it the same and adjust initial rates based on E0 as discussed (be aware of whether s/n will be too low if lower U is used.)  This may be done with two different enzyme batches. Add the kcat values to the master table of kcats for our enzyme batches.

Review of data needed before proceeding further.  If the results with one batch are highly consistent, consider proceeding with that batch for remaining expts. In order to speed up work, consider splitting the remaining experiments below between two staff members, to be done in parallel or on a staggered schedule (one staff member working a later shift). 

A. Priority experiments to assess the ability to combine the data (conditions such as [NAM] chosen to serve dual purpose, check the consistency and to get useful data so we don’t have to repeat after review. This includes Honokiol experiment too.  
[K122] = 600 uM, [NAD] = 3000 uM, three time points (0, 10, 30, 40 min); duplicate experiments (Total 24 32 reactions)
1. 0 uM NAM + 0 uM HNK (2x4 Rxn = 8 reactions)          Not in the list -- is a control only for 0 HKL? Would give enzyme vmax. Could do this  for two different batches for validation of consistency.
2. 2000 uM NAM + 0 uM HNK (2x4 Rxn = 8 reactions) 
3. 2000 uM NAM + 200 uM HNK (2x4 Rxn = 8 reactions)
4. 3000 uM NAM + 0 uM HNK  (2x4 = 8 Reactions) 


[K122] = 600 uM, [NAD] = 15000 uM, three time points (0, 10, 30, 40 min); duplicate experiments (Total 24 32-48 reactions?)
1. 0 uM NAM + 0 uM HNK (2x4 Rxn = 8 reactions)          Never done – why now? Omit?
2. 0 uM NAM + 200 uM HNK (2x4 Rxn = 8 reactions)     Never done – why now? Omit?

AU: Not clear if 15000uM NAD experiments should be included as priority. Yes

3. 57000 uM NAM + 0 uM HNK (2x4 Rxn = 8 reactions)
4. 57000 uM NAM + 200 uM HNK (2x4 Rxn = 8 reactions)
5. 78000 uM NAM + 0 uM HNK (2x4 Rxn = 8 reactions)
6. 78000 uM NAM + 200 uM HNK (2x4 Rxn = 8 reactions)


Review of data (XG may verify consistency again via fitting after expts with 3000 uM NAD, if time permits)needed before proceeding further. 

B. [K122] = 600 uM, [NAD] = 15000 uM, three time points (0, 10, 30, 40 min); duplicate experiments (Total 24 rxns);
1. 12000 uM NAM + 0 uM HNK (2x4 Rxn = 8 reactions)
2. 12000 uM NAM + 200 uM HNK (2x4 Rxn = 8 reactions)
3. 15000 uM NAM + 0 uM HNK (2x4 Rxn = 8 reactions)

C. Optional Experiments- to be included after finalizing/clarifying some of the questions
